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EINE ] 4%, 43 LA w3y 3—J )Lk ING— INF— F—X
—————————— <& BB>- | & BB | ——<HE M- <K E BB | E - <& B | E - < E: - <& 5B
WESES 49,499 £ [E 15,229 £ H 72.53 2F 23,065 2F 760 £EH 13,591| £ H 1,289 £H 601 2 E 6,745
1FEm 55,136 | IR &R T 18,581 | &R 84.28 B ARX &R 27,496 & 0T 1,994| 1Lz H 16,300| &R TH 1,798 &R TH 834 IR ARX &R 9,368
2 R ER X &R 54,723 =R 17,272| FEH 84.23 | XLV=FTH 27,277 KR 1,476 | B[ h 15,968| R &R X &B 1,720 R AR X &B 797\ &L =FETH 8,604
3 METH 54,151 #AITh 17,258 |8 TH 8155 FEH 26,464 JKFE T 1,379|f8E™ 15,961| #L 1 H 1,548 ALMETH 760 | # R 8,219
4\ RERTH 54110 #ETH 17,190 =B H 79.85)KF T 26,119 T 1,377 |5t 15,781|#FH 1,547 | %R 741 | FRHRE T 8,185
5| &Wv=FTh 54,025 FEmH 17,053| Lz TH 79.77 LT 26,116 |t2@ ™ 1,377 FEtH 15,737| FEH 1,544 1R TH 740| #L1E 8,054
6| Lzt 53,932| Lz 16,900 K¥mh 79.68;EMATH 25,804 | BREATH 1,360\ 7K ETH 15,662 |1 ;Eth 1,541 | ETH 737 )1 & 7,994
UEI=NE 53,815 BB 16,375 | HH{E/R T 7919 BT 25,505 | LR 1,159 ;E#ATH 15,639 =B 1,540 &Rt 733/ &R 7,883
8 tgEm™ 52,739 | BT 16,342 | &[T 78.19 |1 K 25,447 ILUfsTH 1,127|&LV=FMH 15,348| &Rt 1,536 =B 729 FEm™ 7,854
9 tRIREIRH 52,482 | R m# X &6 16,320 | BRI AR X &B 77.42 | RitE™ 25,433\ 1,104 & TH 15,148 | 1| tH 1,523 4R 7124 R¥ 7,786
10| KEH 52,465/ 1R H 16,253 )1l TH 77.30| )1 1& T 25,369 & h 1,104/ 2 HETH 15,099 5 & 1,515/ 1| & 714 KEH 7,472
11115 52,376 ;EtH 16,057 &LV=FE T 77.09 F&[E™H 25292 | H&H&™ 1,091 | E2[Hh 15,080 #B#E[EH 1,502\ SLV=FETH 696 | Fia 7,421
12|#&ETH 52,132| K& 16,023 | #3iT T 76.88 fHIE[R T 25,198 =LV=FE 1,027 ;& 15,032| 8% th 1,487 FE™ 69625 7,373
13;Fm 51,439/ )11 & 16,022 |#&;ETH 76.76 | &R 25122 2B 967 I B H 14,988| SV =FH 1,475 3R 686/ /K 7,357
14| BEREH 51,192 & 5B 16,003 X;ETH 76.47 /L& 24916 EE'RE™H 935 E LU 14,859| K;ETH 1,436 K;EMH 669 ;R T 7,353
158 EEH 51,159| € R 15,735 LUt 76.19 FH =ETh 24610 & B 905 FH& =™ 14812/lLOH 1424 1L0O7H 657 &R TH 7,326
16| #F:amH 51,062 | LT 15,684 3R 75.85 | #iath 24,469 & AT 890 FAfFTH 14,751 3% 1,415 BEKTH 649 L& TH 7,312
17L&E™™ 50,848 | =L \-F 15,648 B ET™ 75.84| M FE T 24,335 &R 885 Frimm 14,658 | BEARTH 1,335 [ & 647 &2 7,272
18 ;&M 50,815 R EFh 15,637 | HI4& ™ 7361 FHFFH 24,314| R L 863 BRI X &7 14,658 | K 1 1,304 B EM™ 622| FEE T 7,270
1937 50,440 & ETh 15,566 | &R 72.32 2 E™ 24,160 | B IR AB X & 862 JI[I&thH 14,295 |Ril¥ETH 1,293 Hi4&TH 620 RiIAET™ 7,227
20| 5B 50,305 tBIR[RTH 15,537|&H 7216 E U 24,059|[E &t 857 fHETH 14,256 ZHEH 1,285 ;&M 614 #F ™ 7,195
21| I B 50,184|ILA T 15419 | FiatH 71.57| I B 24,036 | HER T 856 =R H 13,964 ;& TH 1,278 f&fEtH 607 ZRTH 6,901
22| E¥h 50,001 | StH 15,345/ lLAOTH 7112 KZEH 24,005 | g% 842 &R 13,931 |f&[tH 1,269| KB 607 | E LU 6,879
23| B¢ H 49,784 KBrtH 15,184| KBrth 71.05;F&H 23,873 ¥\ T 835 fHIEE T 13,929/ B 1,261 FHETH 599 | FRERTH 6,855
24| &R 49,751 B ETH 15,102| &#ath 7087 ER™ 23,600 tHE[R T 820 [LET™ 13,638 | #1/a™h 1,253 JEtaTh 585| Uiz 6,836
25| gitET™H 49,670 f@FHH 14,992| EHth 70.08 K& 23,437 K& 807 K:ETh 13,584|dt AL TH 1,247 fEE™H 584 | B¥ [ th 6,825
26 ¥\ ITH 49,382 BT 14921 {lE™H 69.96 | FRERTH 23,328 ;EfATH 801 E¥h 13,522;&th 1,243 I B H 572 |tEfE ™ 6,807
27 KETH 49,257 [ E&TH 14,888 | L& 69.71 & Rh 23,309 | E & 798/ lLO™ 13,354 | ILUTH 1,233k i vh 561|[L & 6,467
28| FEE T 49,130/ ELUTH 14,764| ElLUTH 69.38 LB 23,285 dL ALl T 785 FAHTH 13,185 ¥ T Th 1,225 {l& 556 Ik B 6,444
29 lu@ah 48,743 & 14740|f2E™H 68.47 ALIRTH 22493{E&E™ 780|3RH 12,826 |l BB H 1,225 #3Ivh 554 fkET™ 6,350
30 KBRth 48,656 Frimth 14,716 fA AT 68.36 f&[EH 22,080 )111& 751 EHFH 12,785|F &8 E 1,217 gt 552 B 6,341
31 B 48459 t2E&Th 14,697 | F#E TH 68.20 & 21,872 |l B 742 EI&TH 12,642 i&H 1,177 B 551 B 6,139
32 EWnh 47914 FE=TH 14,634/ fEE™ 67.92/1lLATH 21,854\ Kot 727 f@F™H 12,607\ 7KEH 1,174 547 REART 6,128
33| BfFTH 47,748 BEARTH 14,254 5% H 67.53 #ETH 21,672 fETH 705 | [ LU 12,555 R ¥ tH 1,171 lLufgth 540 KFr 6,006
34U 47,605 ¥ALUTH 14,2258 HFH 67.02| KRt 21,459 BEYH 690 &R 12,459 | ELUtH 1,146\ 7)KFTH 535 | [ IUH 5,985
35 &R 47,463 {E[E™H 14,160 [ #21Uth 66.99 H&HH 21,369 | Fiath 6431 E™ 12,458| LUz tH 1,129| Eluth 525/ lLAT 5,882
36| FAHET™ 46,390 FXHETH 14,133 |BEARTH 66.94 [ELUTH 21,344 FH =T 641 | S %0 12,376 BT 1,106 | #0FR LT 517/ &#&%™ 5,859
37|t8HH 46,207 ;E¥ATH 13,996 ;E#ATH 66.21 AT H 20,759 | REATH 622 AT h 12,350| #0gxLLH 1,097 E#&F™ 509 ;& 5813
38| &A™ 45799 EE'R & 13,985 | F# T 66.06 ARERTH 20,382 | fHF ™ 620 EE™H 12,282 &% ™H 1,095 B fFTH 500 & 5,778
39|gEARTh 45482 REI&tH 13,780| I B Th 65.90 S%0H 20,210 ¥ 608 &Rt 12,185 | & [E th 1,092 RIGH 498 ¥ ITh 5,769
40 LR 45439 EI&tH 13,589 | #0Fx LU TH 65.55 B ET™H 19,954 FEH 594 & 12,050 K& 1,090 | &R H 489 RI&TH 5,716
41 St 45,310 I B 13,579 &[T 65.21 f&8Fh 19,933|fX AT 574 |t 12,032/t 1,069 =& H 482 Ko 5,698
42| fEE™ 45284 F &% 13,568 #L 1 H 65.10 {E & 19,931 K& H 569 KBk 12,004 #3LH 1,026 FKEHT 4771 ERET 5,518
43| KG™ 45,017 F#[E™H 13,356 EIRE™ 65.02 =& TH 19,906 | B [E T 541 AL AT 11,651 |f8HH 1,017 2Bt 476 AL AT 5,422
44 |/dc i h 44718 £ &8 13,250 KBt 62.86 dt AL 19,704/ lLOH 528 e R E™ 11,506 | #XE T 1,016 ARERTH 468 |f2HTH 5,283
45 BRET 44,652 FFRLTH 13,240 | B I&TH 62.48 S¥ATH 19,703/ =B 500 FOFRILTT 11,245 EIRE™H 1,013 EIRE™ 467 1EB™H 5,253
46{EE™ 44,205 L Al Th 13,069 | K& 6123 EERE™ 19,486 {l&™H 499 RI&TH 11,214 B ™H 1,004 X% 465 EEH 5,169
47 IREH 43,770 B FFTH 12,958 {E&E ™ 60.88 HEATH 19,128/ ELLUTH 482 #aLlUTH 11,1658 H 1,004 {E&H 456 S AT 5,068
48| EIFTH 43,661 KFETH 12,796 | R fFTH 60.04 RIGTH 19,088|f8FHH 399 #LiRh 11,125 5 996 #LUTH 453 | E&TH 4,985
49 FEH™ 43,633 #LiEtH 12,7194k v 1 59.79 K& th 18,993 |Ril#BTH 398 Knth 11,073| K& 996 f@H 450 fEE™H 4,915
50 #ALUTH 43,322 &50tH 12,463 K%t 57.65| BEXTH 18,418 | FNFxILUTH 373 ERTH 11,048 EERth 983 &#iTh 449 ¥ALUTh 4580
51 Ko 42970 KHth 12,142| & 50H 56.06 #ALLTH 17,931 |f8&™H 363 ARERTH 10,692 AR ERTH 942 EERh 442 S 50th 4474
52 | F1Fr L 42914 BRF;H 12,037 A &R h 48.10 F0FrLH 17,214 BE¥th 325 REEARTH 10,520\ & %0tH 934 & %0tH 405 | FnFr LT 3,997




FLIP%E
F—X D FL R R O
———————— HE: g ————XE K- | F B | ——<HE: -
0 2H 3,771 £H 678| 2= 11,205 £ = 31,524
1| BRARX &R 4,829 tEETH 1,051 | &40t 13,127 EEh 36,905
2|SLV=FET 4,746 &RTH 890 BT 13121 ER™H 36,297
3 fREIRE T 4,723 R ERX &R 888 =R 12,943 $riBth 36,066
4|&Rm 4,602 SLV-FTH 824 ETh 12,626 | FOFx LT 34,810
5#&ET 4500 £;RH 819 If B 12,569| Z LUTH 34,785
6 | FL1R 4,368 [LETH 810/f2E&th 12,537 | I B tH 34,691
7)1 4,351 )1|I&TH 806 | FNFx L™ 12,461 | K:EH 34,615
8| KFmH 4,296 IiETH 780 Ki#EmH 12,436 ¥ TTH 34,585
9 &EE™ 4212 B[R 761 |3Rh 12,315 5 &F%h 34,427
10| KEH 4185/ 3Rt 749 | = #th 12,201 K59 34,398
R 4,123 HFFTH 739 | K& ™ 12,149 ¥A 1L tH 34,370
12| FEH 4121 2B 7138|[LET™ 12,132| KB tH 34,250
13 ;BT 4115 FZEH 734|BEARTH 12,101 | lufzh 33,787
14 )KFEtH 4,068 ;EHATH 734| K 12013 f#HFTH 33,703
15{Ll&EH 4,006 HiItE™ 733|dE Al 11,9452 33,656
16| 52T 3,990 | LUz H 724 FiETh 11,877 3Rt 33,598
17| =&k 3,966 P TH AVAP.N i 11,836 FR&RTH 33,395
18|BiIAE™H 3,932 [ LUth 708 fH#E/E T 11,747|%8 B 33,392
19| #F™hH 3,871 K;ETH 706 | FEEmH 11,619|2;Rth 33,268
20 ARE@TH 3,870 5¥Th 699 ;Eh 11,509 & %0H 33,185
21 @™ 3,792 | X[ th 697/ ILOTH 11,470/ lLAH 33,164
22| KBrh 3,741 ERtH 695 |#NiITh 11,366 | AR ERTH 33,046
23| FHETH 3,730 ELUTH 692 FRERTH 11,351 #kATH 32,947
24 B HET 3,712/iFm 681|f@FH 11,283 S h 32,708
25| @Bt 3,704 2 HET™ 671 f2RE™H 11,223 f8HH 32,664
26 | BT 3,668 KBrth 670 {llET™ 111958 32,394
27| I B Th 3,648 FH =T 670 EIRE™ 11,181 R 32,335
28 ElUTh 3,641 luOm 666 ¥ LTh 11,166 | B&REH 32,252
29| [LET 3,622 I B 63752 11,135|ERE™ 32,090
30|lLfsTh 3,563 REFTH 633 HEET 11,118/ 31,876
31| 3,496 f2Hh 626 =LN=FTH 11,100/{ll&™H 31,787
32 REATH 3,454 &4 610 {£&™H 11,024 BEARTH 31,751
33| BfFTH 3,405 AL1EH 608 ;EfATH 11,016 B HEH 31,651
4(luAt™h 3,381 db il 599 B HET™ 10,995 HHIEE T 31,515
35 FkETH 3,364 fERE™H 596 )11I&H 10,985 ;E#ATH 31,435
363 ™ 3,322 A BT 591 | ¥ 10,927 RI&TH 31,285
37/ Kot 3,263 ¥\ TTH 579 | LUz Th 10,916 Je L 30,926
38|#AITH 3,262 Ll 552 | BRI #R X & 10,908 fE & TH 30,613
39;F&m 3,250\ #kETH 547|%€;Rth 10,707 FEH 30,268
40 K& ™ 3,243 kKFth 547 | ¥ ATH 10,5851 & T 30,092
A1 F&H&T 3222 F&H™ 539 |[@ LU 10,578 | F# A H 29,954
423t i th 3,072 BRZE;HH 533 B fFh 10,476 %L1 29,786
43| ERET 3,065 EHnh 528 )KF T 10,342 | & TH 29,591
44| BE™H 3,040 BEARTH 523 &tATh 10,262 | tE2[ETH 29,330
45| Z 2,996 EEIRE™ 515/ fE&Th 10,228 |#&;ETH 29,276
46 1EE™H 2,963 FFR LT 501 | #L1R 10,227 &LV=FH 29,213
47 BT 2927 K&t 499 | E&™H 10,167 )11I&tH 28,286
48 $8HH 2,926 RIGTH 498 FERETH 9,886 KA TH 28,247
49 ¥ luth 2,824 Friath 494 | BEfE] th 9,729 FH =T 28,111
50 fEET™H 2,821 Bi&H 478 Z1lUTh 9,636 BHRANX &R 27,255
51| #0FrUH 2421 {8 H 435|RikBTTH 9,315 HitB™H 27,177
52| = ENTh 2,419 E%0th 432| EH™ 8,696 ERfFTH 26,778
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